Solutions de notre jeu 3
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La classe de CM1

Replacez tous les

noms des fleurs et

vous découvrirez
6 fleurs des Alpes

acanthe
adonis
amaryllis
anémone
aneth
armoise
arum
bruyere
cactus
chrysanthéme
coquelicot
crocus
cyclamen
dahlia
digitale
doronic
doucette
fenouil
genet
gentiane
géranium
gerbera
gui
héliotrope
hortensia
houx
iris
jacinthe
jonquille %,
lavande
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lilas
lin |
lotus ;
lupin 1“
lys

magnolia
marguerite
mimosa
moutarde
myosotis
nénuphar
népenthes
ceillet

orchidée
paquerette
passiflore
primevére
renoncule \
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tournesol
véronique
violette



